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SECTION A
EG 6'

Answer briefly any six of the following questions.

(5 marks each)

ffikd q t ffi E6 cri + rsfE< Tgt Afrq I

(s ero r&* )

Exptain why the share of the population that works in

the research sector is less than optimal in the Romer

Model?

qrqr ql tr< atqr t qaun *a i qm qd qrfr s{r<rA

or frwr q*trq t q.c d i?

You are given the following information about an

economy :

Saving-output ratio = 20Yo

Capital-output ratto : 2

Expected rate of growth of output = 6%

Discuss the possibility of steady growth for this

economy in a simple Harrod model.

ilq-+] v6 BBtq-qier + qR t frqfrfr{d ql<+rt ff rr€ *,

rtrFt-YFll-E;l 3l:Jqd = 20%
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12. (a) Consider the following production function for

ideas in the Romer model

.4 = ELo, where E is a positive constant,

L^ is the number of researchers and is a constant

fraction sR of the total labour force.

If the labour force is growing at the rate of n,

(i) Show that along a balanced growth path,

growth rate of A is n.

(ii) What will happen to the growth rate of A

if there is a permanent increase in s*?

(3+4.s)

(b) Using the government budget constraint, examine

what determines the evolution of debt to GDP

ratio over time. Also, explain how higher this

ratio, larger is the potential for catastrophic debt

dynamics? (7.5)
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1 1. (a) Use the Extended Asset Market Model to discuss

the portfolio adjustments and movement in the

exchange rate when there is an -
(i) increase in the expected appreciation of

foreign cu rrency;

(ii) an increase in the domestic interest rate.

(7 5)

(b) Show that under the assumptions of perfect capital

mobility, constant prices and fixed exchange

rate while monetary policy is completely ineffective
in changing output, fiscal policy is extremely
effective. (7.5 )

(o) friv 13 ffi+ffi q{ 
"at 

6d A ftq CRrftn

cfucR srqR ari qr ocfrq ol *t trfrqq ri +

ft-c+ we +dr e -

(i) fr?trr 3ar d q+kd Bk + ge;

(ii) .R-( q'' .. + gk r

(re) ffi ft 1lf Efr rrRfi-trdr, Rn ff{-dt sh ffft-{d
Eftqq {r fr tn<w* * rrr wsfu dl}o ffRt-srr+
+ s?-f,+t tt a-ra t B{crrrfr *, {ffi1ffc fffr ii-sil
rrir& tr

Xft-stm-r $3crfr = 2

vsrfi*EEdirSkd'(r=6%

v.fi qTrrRvr arfl t qs a-+q-qe{r + RR F-6T{ * ITrnfir
qt q-d d&sl

How does Friedman's 'fooling model' explain the

occurrence of business cycles? What do you think
would be the shape of the long-run supply curve under

the assumptions of this model?

ffii qr '\-ftrT zT-qr' qrqn qd fr q-sa 6 qrtqr *t
qrtil l? Bnrml +lt rFrf,r * fr s{ arqr fr qrqdrc} * il6{
A+srfr"{ ffi +m 61 3tF6R wr *.n?

Suppose that a foreign exchange trader observes the

following exchange rates

Sl = € 1 in New York

€ I = f 0.88 in Frankfurt

f 0.80 = $ 1 in London

Show that there is a possibility of profitable arbitrage
and calculate the profit on a $1000 investment. Explain
the market mechanism by which consistent cross rates

among the three pairs of currencies would be

established.
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6tr{r 6t \rn fraff $T qrc,t FrqR'Fi-d frB.cc 4t +
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Consider an economy under a fixed exchange rate

system with

Nominal GDP: $ 220 million

Money Supply = $ 50 million

Velocity of circulation of money, V : 4

MoneyMultiplier,m=5

Use your understanding of the monetary approach to

BOP and find the effect on BOP of the economy, this

situation would lead to, given that monetary authorities

will keep the domestic component of monetary base

constant.

What do you think would happen if the economy was

under a flexible exchange rate system?
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10. (a) Bring out the difference in the design ofmonetary

policy under money growth targeting and

inflation targeting. Explain how a central bank that

follows the Taylor rule will stabilize economic

activity and achieve its target inflation rate in the

medium run. (7.5)

(b) Show how the profit-maximizing behaviour of a

monopolistic firm in the presence of even small

menu costs will lead to large business cycles and

will have adverse consequences for society. Is

the loss to society avoidable? How? (7.5)
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6. Explain why in a world where the Ricardian
Equivalence proposition holds, a long sequence of
deficits and an increase in government debt would

have no effect on the accumulation of capital.



What causes bank panics and why do they worsen

financial crises?

In the steady-state there is no 'capital deepening'

and only 'capital widening' occurs. Explain this

statement by elucidating the concept of steady-state

in the Solow model with no technological progress.

ftn- srser i +{ '{-fr ?r6fl-6i"r' {e +fl * 3fu As-d 'Tfr
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SECTION B

ras u
Answer any three of the following questions.

(15 marks each)

Fnfrft{d i- t C6-€i d-{ c$+ * t-ttt ffftq I (ls 316 r++,)

(a) ln the Solow framework, consider an economy

with technological progress and cr:0.5. At the

initial steady state, its output per worker is growing

at the rate of 4Yo per annum. Now, suppose at

time t = 0, the rate of technological progress

permanently increases to 6%. Using the equation

that determines the growth rate of capital per

effective worker along the transition path to the

steady state examine:

(i) What will be the immediate impact on the

growth rate of capital per worker and

growth rate of output per worker?

(ii) What happens to the long-run equilibrium

growth rate of the same set of variables?

(4+3.5)

(b) (i) Suppose that an economy has a production

function Y: AK, (where A is a Positive

constant), the savings rate is's'and the rate

of depreciation is 'd'. Show that in this

economy, government policies that increase

's' permanently will lead to a permanent

increase in the growth rate of the economy.

(ii) What constitutes the social infrastructure of
an economy? Using the concepts of production

and diversion, explain how governments can

play a decisive role in encouraging investment.

(4+3.s)
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